41 2004 COORDINATE GEOMETRY

24th Febfua:y

1. T A =(2,—3) and B(6,1) find

10.

{2) The mid point of the interval jolning A and B.
{b) The gradient of line AB.
(¢) The distance between A and B.

. Write down the gradient and y-intercept of the liney = -3z 47
. By making y the subject of the equation find the gradient of the line 2z + 3y +6 =0

. On separate axes sketch the straight lines

(0 y=—4
(b) =2z —4

. Find the equation of the line with gradient of -2 and y-intercept of 3.
. . R . . 1
. Find the equation of the line through (2, —4) with gradient of 5

. Find the gradient of the line which passes through A(2,—1) and B(8, 2). Hence find

the equation of the line AB.

. What are the coordinates of the point where the line 2z — 3y = 12 cuts the = axis?

. Find the equation of the line through (0, —4) which is parallel to the line y = —2z 4-4.

2
‘What is the gradient of a line which is perpendicular to y = 3% +4.
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Neatly copy the diagram above
{(a) Find the gradient of line AB,
(b) Find the gradient of AD.

D\ o

(c) Show the equation of line AD is & +y — 10 = 0.

(d) Find the coordinates of D where AD cuts the z axis.

{e) Hence, find the area of triangle ABD . .
(f) What is the equation of the line through A which is parallel to the y axis ?

{g) On your diagram draw the line through the mid point M of interval AB which
is parallel to AD. Find the equation of this line.
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